[N of simulated tracks vs dxy(PV) ]

N of associated tracks (simToReco) vs dxy(PV) ]

» » —_— T - -
<@ o
S =
£ g
2 E
4 [%)
Q j=
E o
= 3
@
o ~vf mifie je!
¢y \H H’WHH ‘\H I g
i HMH, il :
5 05 =50-15-10 =5 0 1153025
TP dxy(PV) (cm) TP dxy(PV) (cm)
—=— DQM_mkFit_TToriginal
—— DQM_mKFit_TT_pL
[N of sim] —— DQM_mkFit_TT_pLW
1] 1J
< a
S =
5 10° 3
2 E
g 2
@ 10 o
= 3
x
10°
10?
LOfrdeebemste e et
£ "\ i ” 2 A T A
OGS AR
| ikl ‘ i ! ‘ mu'HlH |14 ! ! i ! ! ! !
TR | A AT
9951-0.8-0.6-0.4-02 0 0.2 0.4 9951-0.8-0.6-04-02 0 0.2 0.4 0.6 0.8 1
TP dxy(PV) (cm) TP dxy(PV) (cm)
[N of simulated tracks vs dz(PV) ] [ Nof associated tracks (simToReco) vs dz(PV) ]
[} F [
i} E Q
8 I =
B N S o
g1 £10
g F T 2
] [ 2
g 10 Foreerdreeeesees Foeees 8
FE g 10
pe) ' g
T : T
04 . 14
; s 1
0 10 20 30 O’—KSO -20 -10 0 10 20 30
TP dz(PV) (cm) TP dz(PV) (cm)
[N of simulated tracks vs dz(PV) ] [N of associated tracks (simToReco) vs dz(PV) ]
[} F 2
o o
L =
F
2 E
4 [%]
Q c
@ S
= 3
i3

Ratio

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


